MECHANICS 2 (2017/18 spring) [ HW6

Small test problems

HW6/1

In this problem you will show that the basic equation of electrostatics (the Poisson-equation) can
be deduced using a variational principle. Consider the stationary (time-independent) charge
density p(r), whose electrostatic energy is described by the following functional

U=far(F @) +o0e0))
= [ ar (@00 +(2,00)) +(@0.60)° )+ o) )

where ¢(r) denotes the electrostatic potential from which the electric field can be determined by
E=-Vop.
The variational principle states that the electricstatic field minimizes the electrostatic energy. The
boundary conditions usually are described by @ (r — 00) = 0, i.e. the potential is zero in the
infinity.
a.) Assuming that we change the potential by the infinitezimal variation 8¢ (r) write down the
variation 6U of the energy functional.
b.) After integrating by parts transform the variation oU in a form
SU = [ d3r M(r) 8¢(1),
i.e. the derivatives of the variation 8¢ (r) are not present anymore. Determine M(r) as a
function of p(r) and ¢(r). Throw out the boundary terms of the partial integration. (7t can
be shown that if p(r) is confined in a finite volume then the boundary terms are exactly
zero.)
c.) The energy is minimal, if 6U is zero for any variation. It is equivalent with the equation
M(r) = 0. Show that this equation is exactly the Poisson-equation of electrostatics.

HW6/2
The Lagrangian of a one dimensional system reads as
1
L= E (atl/)) (axl/)) + % (ax¢)3 - % (631/))2,
where the field y(x,t) describes some continous medium.
a.) Write down the action of the system.

b.) Determine down the variation 5S.
c.) After integrating by parts transform the variation in the form

8S = J dt J dx M(x, £)8Y(x, t)

Determine M(x.t) as a function of y and its derivatives. Throw out the boundary terms.
d.) Determine the expression for the energy density,
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Problems for practice

Pré6/1

The Lagrangian of a homogeneous, isotropic, and elastic medium is described by
L=2(0:5) - (3,5) =5 (0x5c + 0y 5, + 8,5,)% — u((3x5:)% + (9,5,)% + (3,5,)?).

where s(r, t) = (Sx (r,t),s,(r,t),s,(r, t)) is the field that describes the displacement of the
medium, the mass density is p, A and p are the Lam¢ parameters of the medium.

a.) Write down the action of the system.

b.) Derive the equations of motion for the system.

c.) Show that the following plane-wave expression solves the equations: s(r,t) = sge
d.) By inserting the solution of c.) in the equations of motion, show that the connection

between sy, k és o reads as
M(w, k)sy = 0.

Determine the matrix M (a), E)

i(kr—wt)

e.) Let the wave propagate in the x direction, i.e. k = (k, 0,0). Determine the matrix M in this
special case.
The equation in d.) can only be solved if the determinant of the matrix M is zero. Using the
special form in e.), determine the possible w (k) dispersion relations.

f.) Determine the s, amplitude vectors for the different w (k) solutions. What kind of
polarizations appear?

Pr6/2
Consider the following Lagrangian:

2
L=—2-(0,0" (D) (0, (x, ) = VP (x, O (x, £) + 35 ih (" (x, D, P(x, ) —
Y(x1)otyhx(x,0),
where y(x,t) is a complex valued field, and y*(x,t) denotes its complex conjugate. There are
many ways to handle complex fields. Now we follow the most pedestrian way: we describe the
field as a combination of two independent real fields.
a.) Consider the complex field as a real field with two-components (the real and the imaginary
part.)
l/)(x' t) =@ (X' t) +i () (.X', t)'
Here ¢;(x,1) és ¢2(x,1) are standard real fields.
Rewrite the Lagrangian in the terms of these two real fields.
b.) Show that the Lagrangian is real (no complex factors are present).
c¢.) Write down the action using the real form of the Lagrangian.
d.) Derive the equations of motion for the two fields, ¢; and ¢
e.) Show that the two equations are the real and imaginary parts of the usual Schrodinger
equation

RO P(x, 1) = — 232 (x, ) + V()W (x, 0).




Pr6/3
A soap-membrane is streched on a square shaped frame of size L. In this problem we consider the
standing wave modes of the membrane. The surface mass density of the membrane is A, the
surface tension is 6. The Lagrangian of the membrane reads as
L =2(0,u)? = 20T+ (@,0)% + (3,u)7.
where u(x,y,t) is the vertical displacement of the membrane. The first term is the surface density of
kinetic energy, while the second term stands for the surface energy density of the membrane.
a.) Approximate the square-root term in the Lagrangian up to orders of (du)?
b.) Derive the equations of motion (from the approximated Lagrangian).
Because of the boundary conditions, at the frame the displacement is zero, u(0,y,1) = u(x,0,t) =
u(Ly,t) = ux,L,t) = 0.
c.) Search the standing-wave solutions in the form
u(x,y,t) = Asin(k,x)sin(k, y)sin(wt + ¢).
What are the possible values of ky and ky that are allowed by the boundary conditions?
d.) Determine the frequency o as a function of the wave numbers k, and k.




MECHANIKA 2 (2017/18 tavasz) | HF6 |

KisZh-an szerepelheto feladatok

HF6/1

Ebben a feladatban a célunk megmutatni, hogy az elektrosztatika alapegyenlete, a Poisson-
egyenlet levezethetd variacios elvbdl. Egy p(r), idében allandé elektromos téltéseloszlas altal
Iétrehozott  elektromos  tér  energidja  az  aldbbi  integrallal  fejezheté  ki:

U= [dr (=2 Wp)? +pm)e®) = [ dr (=7 ((0:0()* + @y9(r)* + (0,9(r)*) +
p(r)p(7),
ahol ¢(r) az elektromos potencial, melybdl az elektromos térerdsség az E = —V¢ formuldval
szamithato.
Az é&llitds az, hogy a kialakult elektromos tér olyan, hogy az minimalizdlja a fenti energia
funkcionalt. A hatarfeltételt ugy szokas felvenni, hogy ¢@(r = o) = 0, azaz a potencial nulla
szintjét a végtelenben vessziik fel.

a.) Feltéve, hogy a potencialfiiggvényt a 8@ (r)infinitezimalis fiiggvénnyel varialtuk, irja fel

rrrrrr

rrrrrr

SU = [d3r M(r) 8¢(r)!
Adja meg az M(r) figgvény kifejezését p(r) és ¢(r) segitségével! A parcidlis integralas
feliileti tagjait dobja el! (Megj: A feliileti tagokrol megmutathato, ha p(r) csak egy véges
térfogatban nem nulla, gy eldobhatéak.)

c.) Az energia minimalis, ha 6U eltinik tetszdleges varidciora. Ez ekvivalens az M(r) = 0
egyenlettel. Mutassa meg, hogy ez éppen az elektrosztatika Poisson-egyenlete!

HF6/2
Egy egydimenziés  folytonos  kozeg  Lagrange  sirlisége az  aldbbi  alaku:

1
L= E (atl/)) (axl/)) + % (ax¢)3 - % (631/))2,
ahol a y(x,t) mezdvel irjuk le a kozeget.
a.) A Lagrange-striiség segitségével irja fel az S hatas funkcionalt!

------

.....

6S = [dt [ dx M(x, t)Y(x,t)!
Fejezze ki M(x,t) fliggvényt a y mezd és derivéltjainak segitségével! A megjelend
peremtagokat dobja ki!

d.) Irja fel az energiastiriiség kifejezését a modellben!
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Gyvakorlofeladatok

Gy6/1
Egy homogén izotrop rugalmas kézeg Lagrange-striisége az alabbi alaku:
L=2(9,5) - (8:5) =5 (05 + 0y, + 0,5,)2 — u((0:5)% + (9,5,) + (0,5,)%).
Ahol s(r,t) = (sx (r,t),s, (1, t),s,(r, t)) a kozeg elmozdulas-mezdje, p a strtiség, A ¢s p pedig a
Lamé-allandok.
a.) Irja fel a kozegre a hatas-funkcionalt!
b.) Adja meg a kozeg Euler-Lagrange féle mozgasegyenleteit!
c.) Mutassa meg, hogy s(r,t) = spe!® 79t sikhulldm megoldisok megoldjik a
mozgasegyenletet!
d.) Behelyettesitve a c¢.)-ben szerepld probafliggvényt a mozgasegyenletbe a kovetkez6 alaku

Osszefliggést nyeri sy, k és o kozott:
M(w, k)sy =0

Adja meg az M matrixot!

e.) Haladjon a sikhulldm a +x iranyba, k nagysagu hullimszamvektorral! Adja meg ebben a
specialis esetben is az M matrixot!

f.) A d.)-ben szerepld egyenletnek csak akkor lehet nemzérus megoldasa sp-ra, ha a matrix
determinansa 0. Ez alapjan milyen lehetséges w(k) dsszefliggéseket kap?

g.) Milyenek a lehetséges sy vektorok?

Gy6/2
Tekintse az alabbi Lagrange-siirtiséget:
2
L= =3, (5, 0)(%(x,00) = V" &, D x, £) + 5 ih (W (x, )P (x, £) -
Y )tyx(xt),
Ahol y(x,t) egy komplex értékeket felvevd mezd, y’(x.t) a mez6 komplex konjugaltjat jelsli.
Eléadason ebbdl ugy vezették le a mozgasegyenletet, hogy a mezo6t és annak komplex
w(x,t)-t valtozatlanul hagytak, egyszer pedig Sy szerint Uigy, hogy V/*(x,t)-t hagyték véltozatlanul.)
Ez a mddszer elsére nagyon furcsa, ezért érdemes megoldani gyalogosabb méddon is a feladatot.
a.) Kezelje a komplex hullamfliggvény valds és képzetes részét, mint egy két komponensii
mezot:
l/)(x' t) = ¢ (X, t) +1i () (X, t)a
ahol ¢;(x,1) és ¢2(x,1) mar tisztességes valos fliggvények.
[rja 4t a Lagrange-stiriiséget gy, hogy benne ezek a valds mezok szerepeljenek!
b.) Mutassa meg, hogy a kapott Lagrange-siirtiség tisztan valos!
c.) Irja fel a hatas funkcionalt!
d.) Irja fel az Euler-Lagrange egyenleteket amiket a ¢; és ¢, szerinti varialas utan kapott.
e.) Mutassa meg, hogy a két egyenlet amit kapott, a szokasos:

2
tho Y(x, t) = —Zh—maflp(x, t) +V()yY(x,t)

alaka Schrodinger egyenlet valos és képzetes része!




Gy6/3

Egy L oldalu négyzet alaku fémkeretre szappanhartyat feszitettiink ki. Ebben a feladatban a célunk
a szappanhartya alléhullam médusainak meghatarozasa. A szappanhartya feliileti tomegstriiségét
jeldlje A, a feliileti fesziiltségét pedig o!

A szappanhdartya Lagrange-striisége:

L= %A(atu)z —20\/1+ (0,w)? + (9,u)?,

ahol u(x,y,t) a szappanhartya fémkeretre merdleges iranyu kitérését jeloli. Az els6 tag a kinetikus

srer

a.) Kozelitse a Lagrange-striiségben szerepld gyokos tagot a derivaltakban masodrendig!
b.) Irja fel az Euler-Lagrange féle mozgasegyenleteket!
A peremfeltételiink szerint a négyzetes keret pontjaiban az u(x,y,t) fliggvény z¢rus, azaz
u(0.y,t) = u(x,0,t) = u(L,y,t) = uxLt) = 0.
c.) Keresse a mozgasegyenletek allohulldim-megoldasait az alabbi alakban:
u(x,y, t) = Asin(k,x)sin(k,y)sin(wt + ¢)!
Mik a ky €s ky hullimszamok peremfeltételek 4ltal megengedett lehetséges értékei?
d.) Adjuk meg a ky és k, hullimszamokkal jellemzett médus » korfrekvencidjat!




